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（1）求证：数列
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为等比数列，并求出
[image: image44.wmf]{

}

n

a

的通项公式
[image: image45.wmf]n

a

；

（2）数列
[image: image46.wmf]{

}

n

b

满足
[image: image47.wmf](31)

2

n

nn

n

n

ba

=-××

，设
[image: image48.wmf]n

T

为数列
[image: image49.wmf]{

}

n

b

的前
[image: image50.wmf]n

项和，求使
[image: image51.wmf]n

kT

>

恒成立的最小的整数
[image: image52.wmf]k

．

高三数学（理、文科）纠错卷  

_1234567905.unknown

_1234567921.unknown

_1234567929.unknown

_1234567933.unknown

_1234567937.unknown

_1234567939.unknown

_1234567940.unknown

_1234567941.unknown

_1234567938.unknown

_1234567935.unknown

_1234567936.unknown

_1234567934.unknown

_1234567931.unknown

_1234567932.unknown

_1234567930.unknown

_1234567925.unknown

_1234567927.unknown

_1234567928.unknown

_1234567926.unknown

_1234567923.unknown

_1234567924.unknown

_1234567922.unknown

_1234567913.unknown

_1234567917.unknown

_1234567919.unknown

_1234567920.unknown

_1234567918.unknown

_1234567915.unknown

_1234567916.unknown

_1234567914.unknown

_1234567909.unknown

_1234567911.unknown

_1234567912.unknown

_1234567910.unknown

_1234567907.unknown

_1234567908.unknown

_1234567906.unknown

_1234567897.unknown

_1234567901.unknown

_1234567903.unknown

_1234567904.unknown

_1234567902.unknown

_1234567899.unknown

_1234567900.unknown

_1234567898.unknown

_1234567893.unknown

_1234567895.unknown

_1234567896.unknown

_1234567894.unknown

_1234567891.unknown

_1234567892.unknown

_1234567890.unknown

